



Navn: \_\_\_\_\_

Dato: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(-\frac{1}{3}\right) + \frac{3}{5} =$$

$$\left(\frac{1}{2}\right)^3 - \frac{3}{5} =$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{2}{5}\right)^0 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^3 - \frac{1}{5} =$$

$$\left(-\frac{1}{6}\right) - \frac{1}{5} =$$

$$\left(\frac{1}{2}\right) - \frac{1}{2} =$$

$$\left(\frac{1}{4}\right)^3 - \frac{1}{6} =$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{2}{5}\right)^3 - \frac{1}{6} =$$

$$\left(-\frac{1}{3}\right)^3 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{5}\right) - \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{3}\right)^3 - \frac{1}{6} =$$

$$\left(\frac{2}{5}\right)^3 - \frac{1}{3} =$$

$$\left(\frac{1}{6}\right)^3 + \frac{3}{5} =$$

$$\left(\frac{2}{5}\right) - \left(-\frac{3}{5}\right) =$$



Navn: \_\_\_\_\_

Dato: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(-\frac{1}{3}\right) + \frac{3}{5} = \frac{4}{15}$$

$$\left(\frac{1}{2}\right)^3 - \frac{3}{5} = \left(-\frac{19}{40}\right)$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{1}{4}\right) = \frac{5}{16}$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{3}{4}\right) = \left(-\frac{5}{8}\right)$$

$$\left(-\frac{2}{5}\right)^0 + \left(-\frac{1}{5}\right) = \frac{4}{5}$$

$$\left(-\frac{3}{5}\right)^3 - \frac{1}{5} = \left(-\frac{52}{125}\right)$$

$$\left(-\frac{1}{6}\right) - \frac{1}{5} = \left(-\frac{11}{30}\right)$$

$$\left(\frac{1}{2}\right) - \frac{1}{2} = 0$$

$$\left(\frac{1}{4}\right)^3 - \frac{1}{6} = \left(-\frac{29}{192}\right)$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{5}\right) = \left(-\frac{33}{125}\right)$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{2}{5}\right) = \frac{77}{180}$$

$$\left(\frac{2}{5}\right)^3 - \frac{1}{6} = \left(-\frac{77}{750}\right)$$

$$\left(-\frac{1}{3}\right)^3 + \left(-\frac{1}{4}\right) = \left(-\frac{31}{108}\right)$$

$$\left(\frac{1}{5}\right) - \frac{3}{4} = \left(-\frac{11}{20}\right)$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{1}{6}\right) = \left(-\frac{2}{3}\right)$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{3}\right) = \frac{28}{75}$$

$$\left(-\frac{1}{3}\right)^3 - \frac{1}{6} = \left(-\frac{11}{54}\right)$$

$$\left(\frac{2}{5}\right)^3 - \frac{1}{3} = \left(-\frac{101}{375}\right)$$

$$\left(\frac{1}{6}\right)^3 + \frac{3}{5} = \frac{653}{1080}$$

$$\left(\frac{2}{5}\right) - \left(-\frac{3}{5}\right) = 1$$